’<e}$

X H(x) f'ix) alx) g'tx)
0 2 1 . 5 -4
1 3 2 3 -3
2 5 3 1 -2
3 10 4 0 =1
1. Find the derivative of f+ 2g atx=3 3. Find the derivative ur% atx=0 5.
8, 3 a. -13/4 h
2 b. -13/25
c. 7 +13/25
d 8 [ 13/16
e. 10 e. 13/4
2. Find the derivativeof f*g atx=2 4. Find the derivative of \/f (1) atx=3 7.
a. -20 a. K
1
@ 7. b wm
c. -6 e 2
¢ Ok
e 13 e. 410

5. Find the derivativa of f{g(x]) atx=1

G 12

-6

£

. 6

b.
c.
d
e. 12
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Find the derivative of f(x?) at x=1

i S

2
54

a.
)
c.
d.
e.

'
Finc the derivative nf; arx=1

-1/2
-1/3
. -1/9
. 1/9

143

a0 oo




13.

14,
15,
16.
17.

18.
19,

20.

8. The derivative of y = =X .
2 3x+1

@ ~mor
b

- (Bx+1)?
dl, wet
T (3w+1)*?
T-béx
(Bx+1)*
Find the derivative of v = (3x* + 5)*°
3x-4

Find the derivative of e

Find the derivative of v = x* sin(x?)
x+3

e

Find the derivative of y =
X tanx

Find the derivative of v = 3sint
Find y" if y = (x% + 5)3
Find the values of x for which the graphof y =

perpendicular to the line x + 24y = 48
The functions(t) = t3 — 6t% — 15t + 4 describes the position of a particle in motion along a

line during the time interval-2< t < 10, with s measured in feet and t measured in seconds.
&. Find the velocity function and the acceleration function.
b. Find the value of the velocity at the instant(s) when the acceleration is zero.
c. Find the net displacement of the particle during the indicated time interval.
d. Find the total distance traveled by the particle during the indicated time interval.

(2x + 1)% has a tangent line which is
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EVieud (+a,b(o_ Wket):
hix)= £ 4 9\3

W de £ 5 9.7

\(\l(é) = H1 al-)= 3

9~> \(\(7\5 = —f-(x) %(")
W(x) = L6 %'(x)-\— g(x) £

B(2Y e B -2 3 |+ 8 2 =833 ==F
2 W= £60
30
W)= g(DF) - €@ (D _ 5.1-at 13
—_— CS(O)>;__ 5 2z A5
Y
B y(£69) ]

/7—- \
= SR - £
'z‘f(fo)—'/z' = R

V70
5)&;4\(%(’())
5’—« 4?'(300) g'(x)

(2> -3
Hq4, =3 = =X~
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V/;} \/}7

D) y= X Sin(RT e

L) u=F0<D 2 ey
5‘5‘ L(x32) 3x* y'= 2. cos(x?) 2%+ S\;\(T) ’1:«
9. 3(01._- (o %s___ ;XSCOS(XA)*‘ T S”\(x)
l =
VITgT 8wy 2R
tﬁl_-; -"\(g)-l , 6' %\: M&L%)gec_ )(}
— | , -3 - _\,3_/,- (—!r—OJ\X>
gel
- l'T) (ﬁ (%gtr\‘t>
?> %: 3;:(4——)‘( ng\,\-&> gcog"f
5l: (7’ +D(¢ Q:[(A XXB)X 5 - gcog\
(2xs0” PN
Ve BT i LAK
: /gﬁ(3x+\) 7- g>5 & +5>
\ \j 5(& -‘-5) 2%
4" it = = 1ox(% +5)
(2%+\) gu__ \O&G(x _T5> )_X>_\__
!5> ng +5> [ 9P +=5> \O
. 0 (3x+D - 1ax” g'= 1o (F-s)" + €O% (xS
g'= 105

w'= |A0x *(2x] +'

4+) 3x -4
tj ( ;i;hg ((x+\\3 -[éx—‘ﬂ@ﬂ

X+1 (KJP\)Z

Scanned by CamScanner



) )
A 3
~neJ lﬂ‘- (ZXH) 1 4o x+amj:q?
’ 2y = ~x4+H4%

\5"_-_ 3(90(**\)&' 3 ‘(j:—-;,{mx—}- A
5= b (axe )’ L slope = 24
\ﬁl = G (4> U ‘> \[-’/

Y'= A4xyalx+ b = 24
24x> +alUyx —\¢=0
[ Hx™ oYt =3) =0

b(ax +3)(ax=1) =0

o sl e
X = =, &
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20) s(#)= £ t*—Ist +4 —A £t 20 ~
o) v(+)= 3t*_jak IS

a(¥)= b+t —1n

b) (t-1x=0O V() =
= 2

c) s(-2)= A
sdo) = asY4

d?g{)(ace_me)‘\{- = A5 2

é) v(£)=0
4> _jak—15=0
3(+*—yt—5) =0
2(+ -s)(+ +1D =0
+ =5, -l
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